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1. PÎFÛFÐPáFP&F¶F ÛFWk õFW P=+ÎùUk ˜FFÞ ÒîXk =W+ H¸FÞ ¼UP¡FJ— 12×4=48

(=+) i=+ÙFUÞ õF™FW E»FXb ÛFWk õFÛFF¡F õF]ÍFFÞ=+ »FWj< õÑFñ =+UP¡FJ—

(&F) =+ÙFUÞ =+U ÚFP…+-ÚFFæFÎFF ÑFÞ Ò=+FèF °FPáFÜFW—

(;F) i=+ÙFUÞ =+U ÒFõFkP;F=+¶FFj ÑFÞ ¶F=a+ÑF[µFa H¸FÞ ¼UP¡FJ—

(fF) =+ÙFUÞ ¼FõF =W+ ¼FèFaPÎF=+ P˜Fk¶FÎF ÑFÞ PæF˜FFÞ =+UP¡FJ—

(‘~) =+ÙFUÞ ¼FõF =W+ ÞùõÜFæFF¼ ÑFÞ J=+ õFkP‡FÓF PÎFÙFkÍF PáFP&FJ—

(˜F) =+ÙFUÞ ¼FõF =+U ÚFFðFF èFYáFU õÑFñ =+UP¡FJ—



(š) =+ÙFUÞ ¼FõF =+F ¡FUæFÎF ÑFPÞ˜FÜF ÙF¶FF¶FW CJ HÎF=W+ õFFPùP¶ÜF=+ ÜFX;F¼FÎF ÑFÞ Ò=+FèF °FPáFJ—

(¡F) =+ÙFUÞ =+U HáF©æFFPõFÜFXk ÑFÞ õFkP‡FÓF PæF˜FFÞ =+UP¡FJ—

2. PÎFÛFÐPáFP&F¶F ÛFWk õFW P=+ÎùUk š: ÒîXk =+F H¸FÞ ¼UP¡FJ— 2×6=12

(=+) =+ÙFUÞ =W+ EÎF]õFFÞ õFkõFFÞ ÛFWk õF]&FU æÜFP…+ =+ZÎF ùW EZÞ ¼]&FU =+ZÎF?

(&F) =+ÙFUÞ ¼FõF =W+ ÛFF¶FF-PÑF¶FF =+F ÎFFÛF PáFP&FJ—

(;F) =+ÙFUÞ ¼FõF P=+õFh õFkÒ¼FÜF ÛFWk ¼UP‡F¶F »FW? HÎF=W+ ;F]ß =+F ÎFFÛF ƒÜFF »FF?

(fF) iæFFµFU =+F P°ƒ©W©Þj P=+õF =+PæF =+X P=+õFÎFW =+ùF »FF?

(‘~) =+ÙFUÞ =W+ ÑF¼ =+ùFc õFk=+PáF¶F ùYk? HõF=W+ P=+¶FÎFW ÚFF;F ùYk?

(˜F) =+ÙFUÞ P=+õF =+FáF =W+ EZÞ P=+õF ÍFFÞF =W+ =+PæF ùYk?

(š) =+ÙFUÞ =W+ EÎF]õFFÞ iÛFFÜFFj ƒÜFF ùY? ÑFPÞÚFFPðF¶F =+UP¡FJ—

(¡F) =+ÙFUÞ ¼FõF ÑFÞ PáFP&F¶F ¼X EFáFX˜FÎFF¶ÜF=+ ÑF]õ¶F=Wk+ =W+ ÎFFÛF PáFP&FJ—

(¤F) =+ÙFUÞ =W+ EÎF]õFFÞ P=+õF=+U ¡FFP¶F ÎFùUk ÑF[šÎFU ˜FFPùJ EZÞ ƒÜFXk?

(¦F) =+ÙFUÞ =+F ¡FÎÛF =+ÙF EZÞ =+ùFc CEF »FF?



Or

HINDI NIBANDH

1. PÎFÛFÐPáFP&F¶F ÛFWk õFW P=+Î¼Uk ˜FFÞ ÒîXk =W+ H¸FÞ ¼UP¡FJ— 12×4=48

(=+) áFW&F=+ =W+ EÎF]õFFÞ iÚFFÞ¶F =+U õFFkõ=_+P¶F=+ J=+¶FFj P=+õF Ò=+FÞ ùX õF=+¶FU ùY? ¶F=a+õFk;F¶F H¸FÞ
¼UP¡FJ—

(&F) i=+PæF¶FF ƒÜFF ùYj PÎFÙFkÍF ÛFWk áFW&F=+ =W+ EPÚFæÜF…+ PæF˜FFÞXk =+U PæFæFW̃ FÎFF =+UP¡FJ—

(;F) iEPõ¶F =+U ÑF]=+FÞ PùÛFFáFÜFj PÎFÙFkÍF =W+ ÛF[áF ÒP¶FÑFFÃ ÑFÞ Ò=+FèF °FPáFJ—

(fF) áFPáF¶F PÎFÙFkÍF =+U ¼_Pð© õFW iEèFX=+ =W+ ×[+áFj PÎFÙFkÍF =+U õFÛFU‡FF =+UP¡FJ—

(‘~) iJ=+ ÛFùF=+FæÜF =+F ¡FÎÛFj PÎFÙFkÍF ÛFWk EPÚFæÜF…+ áFW&F=+ =W+ PæF˜FFÞXk =+X õÑFñ =+UP¡FJ—

(˜F) i=+š]EF ÍFÞÛFj PÎFÙFkÍF =W+ HÇWèÜF ÑFÞ Ò=+FèF °FPáFJ—

(š) i¡FUÎFW =+F =+áFFj PÎFÙFkÍF ÛFWk ÛFùF¼WæFU æFÛFFa =W+ PæF˜FFÞXk =+X õÑFñ =+UP¡FJ—

(¡F) iÑF;F°kP°ÜFXk =+F ¡FÛFFÎFFj PÎFÙFkÍF =W+ ÛF[áF ÒP¶FÑFFÃ ÑFÞ PæF˜FFÞ =+UP¡FJ—

2. PÎFÛFÐPáFP&F¶F ÛFWk õFW P=+ÎùUk š: ÒîXk =+F H¸FÞ ¼UP¡FJ— 2×6=12

(=+) ÙFFáF=_+ðµF ÚFª P=+õF ÜF];F =W+ PÎFÙFkÍF=+FÞ ùY— HÎùXkÎFW iõFFPù¶ÜF ¡FÎFõFÛF[ù =W+ B¼ÜF =+F PæF=+FõFj
ÎFFÛF=+ PÎFÙFkÍF =+ÙF PáF&FF »FF?

(&F) ÛFùF¼WæFU æFÛFFa =W+ P=+ÎùUk ¼X PÎFÙFkÍFXk =+F ÎFFÛF PáFP&FJ—

(;F) iÑF;F°kP°ÜFXk =+F ¡FÛFFÎFFj PÎFÙFkÍF =W+ P=+ÎùUk ¼X ÑFF·FXk =+F ÎFFÛF ÙF¶FFGJ—

(fF) =]+ÙFWÞÎFF»F ÞFÜF =W+ P=+ÎùUk ¼X PÎFÙFkÍF õFk;FeùXk =+F ÎFFÛF PáFP&FJ—

(‘~) i=+PæF¶FF ƒÜFF ùYj PÎFÙFkÍF P=+õF õFk;Fù ÛFWk õF=+PáF¶F ùY? GÎF=+F Ò=+FèFÎF æFðFa ÙF¶FFGJ—

(˜F) ù¡FFÞU ÒõFF¼ PÂæFW¼U =W+ ¼X PÎFÙFkÍF õFk;FeùXk =+F ÎFFÛF PáFP&FJ—

(š) P¼ÎF=+Þ P=+õF ÜF];F =W+ PÎFÙFkÍF=+FÞ ùYk? HÎF=+F ÑF[ÞF ÎFFÛF H¼hÍF_¶F =+UP¡FJ—

(¡F) iEPõ¶F =+U ÑF]=+FÞ PùÛFFáFÜFj P=+õF PæFÍFF =+U Þ˜FÎFF ùY? HõF=W+ Þ˜FÎFF=+FÞ =+ZÎF ùY?



(¤F) i=+š]EF ÍFÞÛFj P=+õF=+U JæFk P=+õF PæFÍFF =+U Þ˜FÎFF ùY?

(¦F) PÎFÛFaáF æFÛFFa =W+ P=+ÎùUk ¼X PÎFÙFÍFXk =+F ÎFFÛF PáFP&FJ—




